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; 100kN/m%#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/mM%# %3 — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 000 ~ 411 51.44 | =hst | 000 ~ 411|204 10.34 znLs 1.00 | .00 ~ 5.00 51.44 | =nLS | 5,00 ~ 5.00 | 204 10.34
2 100kN/mM%Z#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 6.26 78.64 | TNRS | 000 ~ 626|214 10.81 znLs 1.00 | .00 ~ 9.70 7864 | EnLSN | 600 ~ 970|214 10.81
3 100kN/M%#825 | 1.00 | 000 ~ 014 102.04 |3mZEBRB| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1053 ~ 1090| 102.04 |3mEREZD - ~ — — —
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100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
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Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
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Zh s ~ Zh s ~ Zh s ~ Zh s ~
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Zh s ~ ZhLsh ~ Zh s ~ Zh s ~
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